
-2

-1

0

1

2
|B

k|-
<|

B k|>
 [µ

T]
(a) 

(d) 

∆t
=t

-<
t>

 [m
s]

(b) 

(e) 

k
1
2
3
4

∆t1,4

0.0 0.1 0.2 0.3

-2

-1

0

1

2

Time [s]

|B
k|-

<|
B k|>

 [µ
T]

(d) 

∆t
=t

-<
t>

 [m
s]

(e) 

-10

0 200 400 600 800 1000
-10

-5

0

5

10

∆t
k=

t i,k
-<

t i>
 [m

s]

(e) (f) 

-10

-5

0

5

10

10

∆t
k=

t i,k
-<

t i>
 [m

s]

(b) 

(e) 

(c) 

(f) 

1000 -10 -5 0 5 10

1

5
10

50
100

500(f) 

C
ou

nt
s

1

5
10

50
100

500

500

(c) 

(f) -10 -5 0 5 10
Time delay ∆t [ms]

0 200 400 600 800 1000
-10

Zero crossing i [#]
0 200 400 600 800 1000

-10

Zero crossing i [#]

-10 -5 0 5
Time delay ∆t [ms]

0.0 0.1 0.2 0.3
Time [s]

1010

1

5
10

50
100

500(c) 

C
ou

nt
s


